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(+6)+{(=2)+(-3)}
=(+6)+(=5)

(=2)-(-6)+(-3)
=+1

=(-2)-(-6)+(=3)
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A= (-15)+6%+(=3), B=4x(-6)+(-2°) & of,

@ (-12) +(=2)* = (-2)
® (-5)2 x 22+ (-10)
@ 52 — (-2)% 432

® 75 (—5)2 x 22
A+Bog= T

5.

® 5,7

QD (=13) + (+32) + (—25) — (—19)
O —24—174+29+15

@ -3, 4

® 13, —27

@ —10, -5
@ 10, 6




6. te2 Atsi?

15— [6 x {(=3)? +5} +2°]

© -7 @ —34 ® —14
@ -9 ® 2

7. thee AAtsteieEt

—3% [T -9 {32+ (~2)*} x 5]

8. a2 Atsteet.

17— [3—(-2)? x {9+ (-3)}]

®©-9 ©@-4 OO0 @ 2 ® 5

9. (—D)'+ (D2 + (1P + (1) (1) O B
Fatolt,

10.or5= AlAtstefzt

(—1)100 x (—1)101 — (—1)200 5 (_1)201




